090

HRERERN

69

1 000
.10000000a+bi (¢,b000)0000O.
: 3
Q)wp% (6000D) @)wp(Q—%;> (60000)
(3) e ¢ (580000)  (4) €% (610000)
(5) Vi N —61  (6) (1—+/3)8 T — 62
.20000000 r® (r,6000)00000.
(1)i+1 (80000)  (2) 1++/3i (610000)
(3) -3 60000)  (4) V3+i (60000)
.30 0000000 2% -522+ar+b=001001+4++2000000000,00 @ b000,00 2000
oo. (600000)
.4000000000 (cosf+isinf)™ =cosnb +isinnd, i =+/—100000 cos3f, sin36 0 cosd, sinf 000
0oooooo. (600000)
1
.50 = 000,
2(s) s2+2bs+1
(1) z(iw)0DOO, 00, |2(w)|0000O.
(2) |2(iw)|0 wO0OOOOO000,00000000000 w0O0OO. (620000)

.60 (1)000 2,a,b000. |z2—a|+|z4a/=2/p|00000 000000000000 |o/£[b|000000
oooo.

(2) |zlD0D0000O00O0O0. (63000)
.7000000000 PO+ 0000000 POO0OOODOODOOOOOODO. 000, i2=-1. T-1
.80 2000000000000,000 22+2:=20000 0000.000,20 2000000,i=+—1

ooo. T-1
.90 2t -81i=0000. (3000)
.wD1u:lDDD,ﬁ+y2:4DwDDDDDDDDDDDDDDDDDD.DDD,z=x+WJv:u+w

: (30000)

goog

.1DDDw:Z+V (w=u+iv, z=x+iy) 000000 |2|=20 w-0000000000000. (55000)
z 1

.20 w=coshz 0000, ,0000000<2z,05y<rs0w0000000000000.000
z —z

coshz:%DDD.

30 z=z+iy,w=u+iwl00w=2200000000,

(1) 2000000 z=a,y=b0w000000000DOOOO0OD. ,b00,0,00000000000.

(56000)



70 090 O0O0oo

(2) 000000 00000000. (60000)
.40 et =cosf+ising(0000)0000000,0000000.000,42=
it _ o—if
1) tanf = ————00000.
( ) Z’(ew + 6—10)
(oo}
()sin@:Za ¢+t 0000000, q,0000. T - 60
1 v=0 4
.5DDDDDDDDDDDDDDDDD1DDDDDD 000000000000000 AOOO. 00 ADOOO
020000w=_—=000000w00000000000000. T — 62
z
.60 w=f(z)=sinz000,00000000. Y
(1) sinzzsinxcoshy+icosajsinhyDIZID. 000, z=z+1y i
(2)DDDDD(OZ 110 z)DfDDDDDDDDDDDD.DDD,w:u—Hv
(63000)
.7000 w= 0000, |z <1000000000000000000. 0 T
T-2
goog

3.10 u=sinzcoshy 000. uy =vy, uy =—v, 0000 v(z,y) 0000.000,v(0,00=0000.(440000)
3.2000 DO0O0OOOOO f(,)D000D00OO0ODOOOO. ODODOO f(;)ODO0D000DOODODOOO.

(500000)
30 u=—62%y+2y20000,02000 v(z,y) 0000 w=u+iw0 2z2=2+iy000000000000D0O
0. (510000)
400000 w= f(z) = (2® + avy + by?) +i(ca® + dey+y?>) 000000000000 a, b,¢,d000O, f(2)0
z000. (580000)
.50 f(,) 000000000, f(z)=u+vil,z=2+yi000, utv=a3+32%y—3xy’>—y>—22+2zy+y>+1
000,uw0v0 2, y000.000,f0)=1000. (61000)
goooood
.100000000000000000000000000.
z
1 oo 560000 2) ——————— 1< 2] <2 500000
()227(271‘),272@‘ ( ) ( ) ()(ZJFD(Z??) |2] ( )
1
3) ——— 0<|z—1]<1 600000 4) ——— <1 600000
()2(271)3 |z -1 ( ) ()2(271)3 2| ( )
d
.2DDDDD/_—22 C:lz+il=10000. (10Dooooo)
(z+1)(224+1)
.3000000000000.
(1)/00 200 -1, (520000)
———————ax
o xt+5bx2+4
(o]
(2)/ T (550000)
oo T2+ 2T +5
.4D(1)1Z+6QDDz—zDDDDDDRes[f,]DDDD \
oo
(Q)DIZIDDDDIZIDIZI/ xsm:ﬂd oooo. (5000000) R0
—0o0
4.5DIZIDIZIIZIf(z):z2DOH1H1+ZIZIDIZIDIZIIZIDIZI. (5700000)

4. 60 z=2x+w000000000,00000000.

(1) 2*=-10000 2000000000.



5

go 71

d (

@)DDDDf T§TDDDD£mDDD(7DDDDDDDDDDD. T — 57

o} z

dz
.70C:000 =1)000000CcOo000,0000 ooo.
(=] =1) ’ Lﬂ%+&ﬂkflﬁ a
(9000) 0 R x
z—2

.80o0ooo ="~ - [0000,0,00,000000. 610000

16 = gy 0,00, ( )
.90 f(z)=e*000,0000000
()ooooooood.
(2)w0v0000000000000000000000D00000
@X/f@MzDDDD.DDD,CD|4:1DDD. (610000)

C
.NDDDDDDDDz:ﬁ+%3(hnﬂmogtgnﬂﬂﬂﬂﬂna/&MDDDD. (630000)
C
* q
.HDDDDDDDDDD,DDI:/) 4ilmDDDDD. (6300000)
oo X

d
.12DDDDEK/ %  pppO00.000,CRO0000,:=000000,|x=R0000000C
cr (2—8)(2—-9)
0000000000, ROOO,8,90000000000000000. (10o0oo)
e8] ikx
.BDu/ ° _4roooo. (30000)
oo 9t 22

0d

.10 A, B,C300000000.A040,B030,C020000,0000000 (a,b,¢)0000,0000

gooo.
(1) (a,b,¢)=1(2,1,2) 00000
2)a<ecsbs200000

1 1 1 1
(&2 2ma 2 2 =4000.4q b ¢00000000000000
3 3 3+b 3
4 4 4 4d-c
.20 wOOOOODOOODOO. 000000 00000000000 !(000000000,0000000000
000000.00,00000000000000000000.000,w<1000. (57000)
.30 (1)20000000000000000000000000 m, n00000,m2+2n2<720000000
oo.
(2) 00000000000 2 y000000<2<6,0<5y<60000000000000,2%242y2<7200
ooooooo. T —57

.40000000000 200000 1,0000000000.0000000.6,0400000.00000100

ooo,oooooobob0o900O0O1000C0,000.10000000000.0000000000000,00
ooooooss0ooOD00o0000,0000500C00100000.0000000.

() 0000000 DO0O00O0DO0OO0,000100000000DO.

(2) 0000 1000000D0,00000000 100000DO0OCOO. T —58

.50 A,B,CO03000000. A00D00D0O080,0030,0030,B00000040,0070,0040,

C00000070,0030,00500000000000.0,0000000100000000,00000

00000 A0D0,000000 BOO,000000 CO0OO0O00O00O0000O0. 0000000000000

000000000000000. 000 ADOODODODOOOODOODD,0000000.

(1)3000 ADDODODOOOOOOO PysO0000.

(2)n000 ADDOODOODOOOOOOO Py, 000.n>10000,000000000 a,b,c¢ d,e, f, g, h,i
oooooo.



72 090 O0O0oo

n—1

Pan a b c P

Pp,|=|d e f Ppy

Pcn g h i P
(3)DDDDDDDDD,DDDDDDDDD,DDDDDDDDD,DDDDDDDDDDDDDDDDDDDDDD
ogbdddddooooo. bobooobobdodoooooooooaa. T —59
.600000 40000 10000000. 0000 1000000,00000000000000 3000000
00,000 100000000000. T — 60
.7000000000 106000000 A0DDOO,00000b5000000,4000 ACODOOOOOOOO.
T —62
.8000 30 (O0OL0ODUOL)0DO 70 (DUO0OOLO)0D0LDOOOOOOOD.ODOO0OO,30000000000
goooobooooono. T—-63
.QDDDDDDDDDDDDDDDDDDD.DDDDDDDDDDGDDD.DDDDDd(ﬁd<a)DDDDDD
g, oo o O. (63|:|D|:|)

.100002N0,00 1000000000000 1000000000,000 NODOODOOOO,mO000
oooo P, y00OD0.
(1) Py0O000.
(2) lim P yO0OD0.
N—oo
P,
3) ==L nppo.
Pm,N
P,
(4) lim =N gppo. (1oooo)
N—o0 m,N
.110000,0000000. AR
() 0000 1000000. 00000000000000000000000.

(2) 0000 400000,00000000000D000OO0. (10D00O) o

5. 12000 30,00 v000000000.200000000,010,01000000000.

.13000 30,003000000000.0002000000000200000000A0. (300D0)

gooogd

.10200000000 12000,8000000.000000000O000.0DO0O0OO0OOOO,0000DO
0«000000D00D00O0O0.ez22000ae0,ea<200000000.0000,0000000000 a0

0oooO000ooooo. (56 000)
.20 (1) X, X, 0000000000,000 E(X,+X,)=EX))+EX,)0000000000.
(2) 00000 ~000000,00000000000. (570000)

.30 (1)200000000000,10020000000000000000.000000000.000,200
00000000000000000.
(2)3000000000000000000. (59000)

.40000000000C0.0DO0OOO0ODODOOO.

(1)1 000000,000000000000O0DO.

(2)3000000,0000000000000,1,2,30000000000000000
goooooo.

3)n000000,r00000000000DOOOODODO. (6300D0)

.5000 ﬁloDDDDD.DDDD 10000000 100,20000000 200,k0000000 k0000

1
00000.0000,0000000.000,0000000 5000,
() 00D0O00DO0O0DoO0n.



7 0000 73

(2)0000000000000,0000000000.000000000. (20000)
6.60000 100000 40000000000.00000100000003000000,0000000000
0000000 XO0O0. X00000000.
(1) 000000000000 20000,P(X=2)0000.
(2) X000 E(X)000 V(X)oooo. (20000)
6. 70 (1) 00 30,002000000000010000000000000000000.2000000000,
00o0o00000Oo.

(2)(1)0 20000000000000000000000. (30000)
7 O0ooo
710000000 f(z) = — ( (x_m)2>DDDDDDDDDDDDDDD N(m,¢?)000.000,0
) 7)) = —exp | ——7F" , N(m, o ) ,
V2ono P 202
O0mDOO000,c00000000. y t | 00
(1)0000 N(m, 0?) 00000 20 t=~—20p00 t000 i) 0.0{0.0000
g
0.1]0.0398
0O0DODOO0,t0 NO0,1)00000000.
0.2]0.0793
(2)5000000000000 15lem, 00000 15em000000. o ¢ @ 03101170
0000000000000000000 45em00 154em 000000000, OO ot 01554
00 N(0,1)0D000 +00000000000000. 0000000000000000. = '(6ODDD)

7.2000000002>0000, f(x)=me ™ (m>0),z<0000, f(x)=0000000.0000000.
() 0000 F()0000.000000000OCOOO.
(2)00 u, 00 ¢20000.
(3) 00000000000 00020000.0000001000000000.000000000000 20

gooooooo.
k

A
r.300000000000000 P(X:k):e’)‘FDEIEIDEI.DDDDDDDDDDDDDDD (1000)

8§ OO

. 100000 100000000000, 0000D00D0 4kg0D00,0000000 £04KgODOODODOOODOO
2

1 1.96
0,00000000000000.9%%000000000000. 000, —/ exp _r dx = 0.475
V2r Jo 2

ooo. (570000)

O Dbhoboono

9.10 O-2y-00000 SO0 200000 «00000000000000 S :0—2'y2 00,000 800
0000 400000000000000S”:0—2"y">.’000.0000000.
(1) /00 y0ODOOODOO #0000, cosf 00000,
(2)000 $”/00000 (¢,y”,2/)00000,000000 S(x,y,2)0000,0000000000.
(3)000 6, 8,58 00000000000 (1,1,0)00000 A, B,CO0000,000 OABCOOOOODO

. (57000)
— — — — — — — — —
9.20 Ax(BxC)+Bx(CxA)+Cx(AxB)=0000. (570000)
9.300000000000 (2,9, 2)000,000000 A(a, 0, 0), B(0, b,0), C(0,0,¢) 00000000

—

- —
a, b, cO00.0000,0000D000.
()0 A,B,CO0O00DOOOODOO R(z,y,2) 00000000 7 00,000000000000000.



74 090 O0O0oo

(2) 000000000 f(z,y,2)=100000,00 f(z,y,2)0000.
(30000000000 f(z,y,2) 000 gredf 0, 000000 wOOOO.

(4000 ABCODOOO0OO0OO0O $00000000000. T — 58
9.4DDDDDDDr—coswt7+sinwt75DDDDDDDDDDDDDDDD 0o

0o0000.000,w000, 7, 7 00020,y00000000000000.

()00000 70 700000000000000.

(2)000 ¢00000000000.

(3) 7 x 7 000t0000000000000000000. (59000)
9. 50000000 (1,6, ¢),00 s000000000000000000000,00000n,6,¢0000000

Or6, ¢ s000. (590000)

9.6000000000,000000 =xz=t,y=t}2=t> 0000000000000000 (4230 P(t)
000.0000,40 P(0), P(a), P(b), P(c)(0<a<b<e)DOOOODDODOOOODODDOO. (600000)
9.70000 ABCDODOODODODODODOOOOODOODOODD (00000000000 000000000)0
—_ = = =
S1, S2, 53, 5,000.

- 5 = — A
(1)00 A, B,C,DO00DOOOOOCOOD 4, B, C,DOOOOO, D
D-B)x(C-B)
g ! Dooooooo
— = —>2—> — =
2) Si+S:+S;+S;=0 00DDDODODDOOOOO.DOO00,AxBOOOOO h
A0 BooooooOoOOOOOOOO. 61000) SN
9.80 ¢z, y, 2) = /221 42 + 220000 grad¢ 000 A¢ODDD. (610000)
-0 =0 =0
9.90 VOOODDOD000000.0000V="75+j5 +k5-00000,00(1),(2),(3)0000,
y
DDD,r:zz+y]+zk,r:|r|: 2 +y2+22000.
1
(1) Vr (2)v(;) (3) V(r") 63000)
1 2 3
9.10000 A= |2 3 1|00DDO,000D0000.
31 2

(1) 00 ADDDO |[A|0D00000. 00 AQ rank000DO.

(2) ADDDO A-'D0OO0DO.

(3) @ =%1,0,0), b =%0,1,0), @ =1%0,0,1)000. A'7, A1 p, A"l 000000000000000

oo. 1000)

9.1100000 30 P(1,2,3),Q(2,3,1), R(3,1,2)000,PQ=u, PR=700000,0000000.

()W, v 000 uwxv00oo.

(2) ZQPRODODOOODOO.

(3) APQRODODOOODDO.

(4000 OPQROOOODOO. (20000)
9.1200000 A(2,3,0)00 B(0,1,2)000 L:z2=y=>000,0 PO0O0 LOOOOOOO00. 00000

oooo.

(1) PA2+ PB?  (2)00 (PA, PB) (3)00 PAxPBOOOD (20000)

)
)
)
)

10 DOoOobooag, O

10.1000 |2| (—n<z<7) DO0O0O0O0O0ODOODO. (610000)

oo
10.20 (1) 00 [-7,7]00000000 f(z) 00000000 f(x):%JrZ{ancosnerbnsinnx}DEIIZIEID,

n=1



10 O00D00OO00,0 75

2 o0
"t 2)Yde = 2 + Za +52)0000000000.

(Q)DD[WW]DDDDDDD_D]”() |sinez| 000D00000000. 000,e000000. (530000)
10. 30000 Ugg +uyy=u, r=00u=2, r—oolu—0 0OO0DOO. (10D0D)
10. 4000000 Vae+V,, =k2V,0000,00000000.

o 0* 0 0 o 0* o9 0

Hoooooooooog (Dooo = 9 = HDDDD iy —
1) ( v =reosf, y=rsinf) "0z’ 0x2 Dy’ 0y ~ O Or2’ 96’ 002

gooogooo.

(2) 000000000 0ODO0OODOODOUOOOODO. (62000)
10. 50 f(z)=|z|] (—v<L2<m)0000000000OOODOO 1+31+5i+ -Ooooooo. (loooo)
10.6EI|ZI|ZIDIZIDD|ZIDEIIZIf(:v):—|:E| —7<z<70000000000O0. (300D0)

y ™
a
-7 O| T 27 37 v
10. 7000000 V() ODODODOODOOOOOO.OOO,vV(O)=V@E)oOOoOo. J T
()00 e 00D e, 0D00OO0ODODODO. i R§ C U(t)
(2)000000U(¢)DO0O0O0O,0000000000000O0DO. | T l



